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qtrntilhhph ulluh

33621290 hqfLhlphh 1,B2dq/rl1, 1ri1 rudqnrl +< rudul. :F
20

33651 1 25 Uqfrppndhght' 250ilq +< 4hrlurquur ,F
30

33651 1 25 Uqfrppnilhght, o2 200rlq/5rli +< uptluti t 20 *

33621 390 Urllrn4upnl-r 200riq +< rlhrlurhurtn + 4500
33621762 Uillnafrqirh 5,Iq +< 4hrlurhuur x 12000
33621740 Ud1n4|rqlrtr 10 ilq +< 4hqtuhurr.n

:r
15000

33651252 Utnuurnpnqnp 1 ilq +< rlhrltuhuru )F 370
33621710 Uurhhn1n150 riq +< 4hrpuhunn * 3600
33621420 Utnnp{u-r utntu tnfrh +O tlq q< qhrpuhurtn * 2400 )a

33621420 Umnp{ru uururtnfrh Z 0 Uq +< qhrpuhuur !F

6000 *

33621 420 Urnnprlruuuruurfrh t O rlq +< 4hrlurhunn * 1000
33661 1 21 U g hufrpuru fr ghL-fupnr_ I O 0 tlq +< 4hrltuhutn :la 12000
33651 1 70 UghhL,lhp pu.ur)ph 3odq/q +< qtup!nr-d *

1_0

33651 1 1 1 Uilopufgfrfrtr zsouq +< 4hrpuquru l( 240 *'

33651 1 1 1 Uilopufrghfrh ppru {nr_1uhruppunr
aIf\.(-/8.r.. al f_f_/E (,

q< uprlurtt )F

30 *

33621761
u g Etnfilu ur fr gf Lruppnr,
ttw qb bqh n uth h h ryfi opu h 4

+< 4hqurhtuur * 40000 lk



33651 1 1 1 Uilop ulr glrfrtr p lur {nr1* t rrpupu* +< up{ruit x
30

JJO51 1 1 UdopuhgbftL250ilq/5,I1 +< up{utl + 25
J36/1114

-

33631 21 0

udlrhnglrfttrl 50ilq q< 4hrluhuur rr 2400 tt

Funuuupurqntr 1dq/q +< qtupllnr-d ,r
30 tr

J3031 230 tnr{fr4nh lnr1 I OOdq/tt1 +< up{urtt :|(
35 tt

J3621 t20 trfrunqpnlnl 2.5dq +< rlhrluhruur )r
1080

33621720 trfrunqpnlnl Srtq +< 4hrlurhrutn )l(
15000

33621720 trfrunqpnlnp 10rtq +< 4hrlurhurur )f
7500

33651 1 31

33651 '131

UnrlStuilhpopuuqng, urpfrtf hpnqpbd
800LIq +16Odq +< rlhrltuhuru + 60 *

ulLL1l ruu cfdopuurqnp, urpfirl hpnulphri
400LIq + BOLIq +< 4hrlurhtutn x

1,20

33651 1 31
UnrlSunlhfdopuuqnl,
urphilhpnul phd200/40 ; 1 20{4 +< uptluti * 30 *

33ti3i 260 3nr1 50dq/rt1 +< up{utt )F

35
33661 1 53 'Ihpuunihuruqnh 4rlq/r11, I tI1 +< ullqnr-pu x 100
JJOOl 1 C3 'Ihpuurf htnuqnh *qL*\*p tr.tq.,,11, +< up{ur\ )r

118
33621 380 lfrqopufrtr 0,25rtq +< rlhrltuhrutn * 6000 *
33691212

33631 31 0

'Ihnudtrh+2huul hph4frbasO Llq+ 50 dq +< 4hqruhtutn rF

900 t(

'If\lnghhu\50riq +< 4hrlurhtutn x 7500
33631 31 0 'If\lnShhu\ 4ntr4nr1 1 Orrq/q +< qup\nrd * 110
33631 31 0 'I[\lnShtru\ 4nh4nr1 sOtrq/q +< qup\nr-d * 450 *

33631 31 0 'If\pnShtrur\ 25 ilq/tf1, 3il1 +< urtlulnrlur * 150
3361 1 1 70 'Ipnunutlhpfrtr aOdq +< rlhrltuhurur + 6700
3361 1 1 70 'Ipnurur{hplrh BOriq +< 4hrpuhurtn * 720
33621410 Ulrtirlururnuurftr 20tlq +< 4hrlurhurur )F

900

33621 700 Llhrnnqpnlnl 25tlq +< 4hrluhur.n * 5160

33621700 tl"hurnqpnpnl 50tlq +< rlhrpuhurn + 720
33621 760 ruurltuutnnl bdq

-

+< 4hrpuhuur + 2000
33621 760 hhuriurqpfrp 10ilq +< 4hrlurhunn x 6600
33621760 hhurLurqnfrL 20rlq +< 4h4uhurtn f 10000
33621 520 htrurluqphL+hlr+pnplnpphuqh4 1 0.iq

+25r,[o +< 4hrluhuur * 12000

33600000 hplrppnrilrghb ru$rupu. 1 Orfq/q +< quplnr-d + 20

33631 250 hpurtrnl96% +< il.*n x 40
J3b31 250 hpurhn170% +< thtnp * 30
JJOOl 1 50 Itb'J.rynt S[q/[t +< updurtt ,fi

180
JJOJ I ZYU hpnr-qpnghtr 20rIq/il1 , 100il1 +< 22b\ )r

30



33631 290 hpnrqpnQhh 200rlq +< rlhrlurhurtn )F

1000

33631 290 hpnr-qpnghh 400rlq +< 4hrltuhunn
)F 4500 *

33631 290 hpnr-qpn$hh 600ilq +< 4hrlurhtutn * 1080

33691 203 Lnqrupururb ZSUq +< 4hrlurhrurn
,r 720

33691 203 Lnqurprnurh sOUq +< 4hrlurhurur * 5600
33691 203 Lnqurpnuh tOOUq +< 4hqurhutn * 8400

33671 1 31 Lnpururtuqfrh tOrtq +< thrpuhrur.n * 600

33661 1 1 6
[[an\u3]rh 1nL6nL1p trbpurpQrtruL 20dq/rt1,

2tIt +< unlqnr-1u i< 100 *

33642230 Lhnpfrpopufrb rOOrr!q +< rlhrltuhruur * 4500 *

33621 51 0 Qurulurnqpirl Zbrrq +< 4hrlurhruur * 4640

33621 51 0 tturqurnqplrl 50rtq +< rlhrlurhurtn )fi

9060

33621 690 tttuptlhafrpnl, 25ttq +< rlhrpuhrun * 8800

33621 690 9uprlh+trLng 6.25 rtq +< 4hrlruhurtn 3600
33621 690 tlupqh+h1n1 t2.5dq +< 4hrlurhurtn ,r 6000
33621 370 hqnunppfr4|r rlntrnhlnnpuur 2 O dq +< rlhrlurhurur * 15000
33691 231 + urpfrnr-ri, fu nlhllurlgh$ hnnt q< 4hrltuhuu + 1,4400
33631 300 rhurnqpn$hb Sortq +< 4hqruhurur + 1200
33651 148 IrlnurfrhtluqnL trpp. 1 0LIq/q; 15q +< qup!nr-d * 10
33691 1 86 Qhpurghururil B0Odq +< 4hquhtuu x 5100

33691 1 86 'tlfrprughntud 4oodq +< rlhrltuqurur
hd

+ 9360

33691 1 96 Olruqhpfr4nh 2dq q<
4hrltuhuru + 720 *

33621140 k1nu1|r4nqphp Tsdq +< qhrpuhuur + 9000

3362 1750 uhSh+hqlrtrl 0tIq +< 4hrluhunn x 3000
33621 360 Lfrtnpnqfrghphh 0.Silq +< rlhrpuhrutn rfi 800
3361 1 1 50 tlurL\phurtnfrh tSOUq +< 4hrltuqurtn + 10000
33691 124 'tlfrpuhrnhl 25odq +< 4hrltuhrutn + 15

33621 580 Zfr4pnp lnpnfohtu qh1 25 rtq +< 4hrlurhurur + 900 *

33621 640 Zfr4pn\npurfrqntr 5 riq/q; 3q +< qrup\nr-d + 50 *

33642220 UhphLqnhrlLfrqnlntr aLIq +< 4hrpuhtuur
)r 1440

33661 1 33 I-hnrlnqur, \*pplt+nulru 25 rtq+250 LIq, +< 4hrltuhruur
x 11000

33691 1 29 Lulnpfrnr-,Ih pl"plr+ 0.9%, I 00111 +< un{urt1 + 20



33691 238 'Ilurprughururtfnl 500 rlq +< rlhrluhurur )F 2000

33642210 'tlph4hfrqnpnh 5rlq +< rlhrluhuu + 1800 *

33671 1 1 3
Urulpnnnurtinll 00d\q/ahqul)ul+,
200 4hrlur2ulfr

+< gnqtughfr

2h2urnrftul:
* 170

33691 200 Uhtrnqlr4hhp 13.5dq +< qhqruhurtn * 4000 *

3361 1 21 0 Unr-lSuuru Lru qhh 5 0 0 Liq +< 4hrlurhurr.n
x 1560 ik

33621 1 1 0 'lup$rupfrtr 5dq +< 4h4ruhurur * 2000
33621 1 1 0 .lupSuplrb 2.5ilq +< 4hrlurhunn

,l 1800 *

33621 620 liqfpnbnlu\urnh zsdq +< 4hrpuhtur.n
)f, 9560

33691 231 tun1h\urpfrghpnpl 5000 LIU/1 ri1. 1 Ori +< up{tu\ * 1000

33651 253 Sruilopufr$hh zOUq +< 4hrlurhunn
)F 3000

33661 1 52 Shtnpuglrllfrtr I 0rlq/q, 3q +< qurp\nr-d + 70

33661 1 54 Shurpur\ujfrtr t OUqlLtl +< up{utt x 12 *

33671 1 1 I 'l"l tupLu ghtntu tf n p 1 25 dq/5 rl1 I O O rl1 +< un{ur\ * 30

33651 1 1 B ShSrnpfrurpunl+ 1 000LIq +< uprlurh )F 10

33651 1 34 SfrqpnSlopuruglrh 3rlq/1l1, un4ut1 +< untlrult x 136 *

33671 1 1 6 €ufrpnrihururqnfrhlr h/p 0.5dq/1l1,1 O rl1 +< unrlur\ + 40

3361 1 1 00 Orlhqpurqnl2Odq +< 4hrluqurn
hd

* 7500

33621210
bn\*p qupnrhu\nr1
hrutftu\gnrp3 nr-h 5 0 rf q/5d1; 1 0O rl1

+< 2zbLl
tr 20

33621 730 'lhpuqrurifrl a0dq +< 4hrp-uhutn
+ 3000

33600000 Shpnqnp 50LIq/Lr1 q< uptlu\ * 20 *

33600000 $1nr-ufr\urqnh 2h2. 50 Llqq/4bqu1lu qh +< hurur * 5 *

33621 590 $nr-pnuhil|rr1 a0tfq +< rlhrlurhurr.n + 8400

33631 1 00
Ufr\nhuqnp 20dq/q, ugnLtlfrUb qurp!n16,

tt.u +< qup\nr-d * 10

33651 1 50 $pnr-\nbuqnp 50rlq +< qhrlurqurur * 24

33621 730 Sunluntlnnqhh 0.arJq +< rlhrltuhunn * 5400

33661 1 54 Shppfrhu $frtr 4ntrrlnr1 1 Orfq/q +< qurp\nr-d + 10

33661 1 20 Shppfrbu$fh l-rppurpu. 1 0LIq/q +< qurp!nr-d * 10 *

33691 250 Lrur.nurhnulpnur.n 50rl\q/il1, 2. 5ri1 +< un4ull * t4 *

33631 1 B0
Upbupfr unrlSur4|rulqhh hppurpunr-p,
1Orio/o

+< qup\nr-d * 10 *



33671 1 30
.IhS hhhh4lruribb hfr4pnplnffi
1 Orjq/ilr, 1ilr +< ruriu{ x 10

33091 236 €Lnnnq Lrpunltrhh hh4pnplnph4 +< unitu * 16
33661 1 1 I tlhmurdfrqnl (rf hurtu,ihq^L truurpfrnr_il) +< uidul * 10
33iitt1146 qn$hhb 

Lb.bhp 2Odq/di +< unlut * 20 *
336Ci1 1 17 9ruunlulunurh huhnr\ +< uprlurb t 40
33tj9120 Q unntlu lunurh nq hpnrprJ +< uprlurb + 30
t4411500 Uhnr-2tu4ph uu{frprn 1 0% +< updurtt * 50

33691192 Lh+n\ur:htr + hqhtrU$phl, +< uilul * 30
33671,129 Lfrurpn$nr-purl 20rlq +< 4hrluhurp + 50
33621 560

ft rutlf qpht* Zhlp"p Lnirfohurqhrt
2:6tiq+12,Sdq +< rlhrpuhurur + 1500

33621 560
OturffrqphL* Zh+prp 1nppf,tuffiq{q! 2.5ilq +< thrpuhuur x 3000 Ys

33621 560
ll'tu ilfrqpitL + Zlt+pnp Lnpphru qhq
1 Oilq+12.Srlq +< rlhrlurhutn * 4500

33621764 'tl hpfrh4nq lrhl+ hh4ur q *,ilrrl
2riq+0.625,I0 +< 4hrluhunn + 1500

33621764 t hpfrh4nqphL+ hh+urq ruil|rr1
4riq+1.25,10 +< 4hrltuhunn + 3000

33621764 'tl hpfrh4nqphL + hb+ur ul urdhrl
Btiq+2.5,10 :

+< qhrluhunn * 3000

33621764
tl hpfrh4nqlrhL+ hh+tu q u rlfra
1Orlq+2.510 +< 4hrSuhuur x 3000 Ys

Uilp4frqhl-t+ Lnq*ptnurh Srfq+ 5 6riq +<33621762
4hqtuhutn * 3000

33621 762 
lUrlln4frqht 

* Lnq*pu4uh Sriq+'l 00ilq +< 4hrpuhurtn * 3000 t(

33621762 [tilnafrulhb+ LnqurFtnruh l Qriq+SQ{q +< 4hqurhturn x 1500

3362 1 ?62 
| [ll;lfrJt. Lnqurpururr

+< 4hrlurhuurl * | SOOO *

33621 460 tlhpfrh4nqphl + UtILntf hql.l, Stfq+ g1O +< 4hrlurhuur )F 3000

33621 460
tI hpfrh4nul phl + Utfinrl|rq frh
5rlq+'lg,1O +< rlhrpuhur.n * 3000

33621 460
tl hpfrh4nqphl + Udlnrf h"thl,
1 0ilq+Sfq +< 4hrluhruu * 3000

33621 460
tl hpfrh4nu-l FhL + Utl1n4|rq irh
10dq+1Orlq +< 4hrluhurn + 4980

33621764 'tI hpfrtr4nqphL+ hh+ru q urdlr4
+Urfln4frqfrtr 4rlq+ 1 .25rlq+5dq +< 4hrlurhrum l( 4000

33621764
tI hpfrh4nqpirL+ hhrlur q u tlfr4
+Urit n+hut hh Bilq+1, 51q+5riq +< rlhrluhruur )r

4500

33621764 '[ hpfrh4nqphL+ hh+ru q urifr4
+Urir nnhqhtr Bilq+2.Silq+1 Oilq

+< 4hluhurtn + 5100

3362 1720 .Ffrunqpnlnl + Urilnrf hulhtr 5riq+ g1q +< 4hrluhuln x 3000

33621720 trfrunqpnlnl + UrIln+lrulhl, Stfq+,1 g.iq +< rlhrpuhurn + 3000

33621720 trfrunqpnlnl +Urfln+hqlrtr 1 Qilq+S{q +< 4hrpuhurur t 2580 Ir



3362172 tr|runqpnlnl + Uriln+huf ftb
1Oilq+10rlq +< 4hrlurhutn x 2880

33621 55( tluilf ulphl+ UrIl.,rlh"l hl, 2 . Sdq+ gf q +<
4hqruqrurn

* 1500 Y(

33621 55 ft uilhqpfrt+ Urllnrlfrqfrh Stfq+ g{q +< 4hqurqurr,n ,1. 3000
33621 55C |}urflrqpfrl+ Uil1n4h"lhl, Sriq+,1 g,iq +<

4hr1r.uultuur
* 3000

33621 550 Crurilrqptrl+ UilLnll."lhl, 1 Otfq+ 51q +<
4hqruqurur

* 3000

33621 550 Ounfirqphl+UilLnrllrqfrl, 1 Orfq+ 1 0riq +<
4hqurulruur

x 1500

33621720 trfrunqpnlnl +tl hFhlr+rqnhL
5dq+5rjo +< rlhrp,uhurtn * 3600

33621720 tr'liunqpnl@
Silq+1 gdq +< rlhrpuhuu )F

3600

ssoz r zzo 
I flJlltlL"t 

+thpbtr+nurphl
+< qhrluhunn rfi

21.00

21.00
3362 1 720 

| fl;;;lt1[t 
+',"rhFhrr+nui.hl

+< 4hrltuhtuur
,F

33691 203 I nq tu prn uh + Zfr4pn p lnpplr tu qh+
10OrIq+25{q +< 4hrltuhurur x 4200 ik

336e 1 203 I !11*plYtr+Zh+pnplpph*qh']
l50dq+12.Sriq +< 4hrluhuur IF 3000 *

33600000 lrlht urhruqhri Q0tIq +< 4hrluihuru + 1800
33600000 'Ihturhurqhri 90rlq +< rlh4urhurur ,r 2400
33600000 'IhLuhu:qhil 180tiq +< 4h4urhurtn * 1,200
33600000 Shnhphqhtr 1Orlq +< 4hqurhuru + 1800
33600000 3 hurlrplrqlrh lnrbnrl p trhppfrh

nh+nrhriruh Sdq/rit +< uprLtu11 + 30

33600000 'IhuhurnulFruqn1 2Odq +< 4h4ruhutn * 6000
33600000 'Ihuhurnulptuqnl 4Oilq +< rlhqurhtur.n )F

1,200
33b / IL25 Utlpnopunr 30rj +< 4hqurhurtn )r 360
33ri00000 Llnhurhlnr\uruu Sriq +< 4hqruhrum * 60
33600000 Unhr.nhlnr\uuur 1Otiq +< 4hqruhurr.n + 460

3367 1 1 12
hqpunnpnul|rnui
PPnrifr4+$hhnurhpnp
2 0rI\q/4hr1ur2ullr+ g0riqq/ahqru:ru+

+< * 4

33691 1 89 trhnrruhhutnhb 24{.q +< 4hqtuhurur l. 2000 *

3367 1124 Snppunlfrghh 3dq/ri1 ru\hur\urphLt hf, +< up{utt )r
24

3367 1 124
Sfrqpn$lopuur glrh+4hpuunihp*q".i
3tiq/tf+ 1 rfq/rf1 +< up{urtt * 24

33661 1 56
fdfnlnlnp+trpfrhqnlurilfra 6, Bilq+ 1 Oilq
urbLruLuBhthhp +< up{ru\ )F

T2

33661 1 56
trpfrtinhfrahtt* fahirtnlnp 2 riq + 6 . 

g {q
urbhuburphrhhp

q< upr{uh x 24

33600000 I-hhtnlrpur ghrnurd 1 00 Oilq +< 4hqurhtuur * 1,200
33621767 hq nunpph4 ilnhnhfrupruur 40rf q +< 4hqurhuur rr 2000
3362 1767 hq nunpph4 rinhntrfrurnruu] 60tlq +< 4hqtuhuur * r200 )t

0



3362L740 Udtn+hulhtr 4/h sriq +< 4h4urhruur + 660 *
3362L740 Utttnnhulhh +/h 10ilq +< 4h4urhunn )F

3300 *
3362L420 Uurnnrl uruurru lnfrh 2 Oriq +< 4hrlurhurur + 3000 f

33621390 Utihnlurpnl-r q/h 200rlq +< 4hqurhrutn )F

1200 *
33667127 Ughurhluuthgfrlurppnr_ tl/h I 00rlq +< 4h4uhurn )r 4500 *
33621710 Uurhhnlnl dh 50riq +< 4bRuhruur t(

150 x

336217L0 Utnhhnlnl l/h 100ilq +< 4hqurhurur x 50 +

33671,1,1,4 Uilhl,rn$hfrtr ur {q. 2,4o/o SJ4 +< rurlqnr-1ru * 100 +

33621761

U g h urlr p u fr g frlu ppnr-,
Liru qtrh qlrnrilfr hlrapop uhrl
75[+l5.2tte

+<
4h4uhurur

+

2880

+

33621720 SbunulFnLnL dh 5dq q<
4b4 ruhruur )r

3600 *
33621720 trhunulpnlnl 1Odq q< 4h4uhurur i( 3000 l(

33621380 rllrqopuhh r1/h 2 50ri\q +< 4hrluhurur * 7200 *
3363 13 10 'lh\Lngh!u'\ p/"t r1/h 50ilq q< 4hqurhruur )r

360 *
33631310 'IhhLn$hhurh +nh+nr1 5% 50q +< qrup\nd + 60 *

3363 1310 'Ilr\lnShbrull rurlq . 25tlq . /t113[1 +<
rutlulnr-1ru

*
50

+

33691212
'Ifrnurffrh hhuq hpfr{rL a 5 Odq+S Oriq
4/h +<

4hqurhurur
*

600
+

33661136 'Ihruqhulru\i 5riq +< 4h4 uhtuur x 500 *
3366113 fhruqbqruri 1Orlq +< 4hrlruhruur x 500 t|<

33611170 ]pntnul{hpfrb aOriq +< rlh4urhurur + 250 *

33661153
lhpuurtihpurqnh 4ilq/rip, 1 ri1 pnr_bnr1p
rhpurp\tiurh

q<
mrlq nr-1tu

*
15

*

33621520 hhuLuutphL +/h 20tiq +< 4hqruhurur ,r
2400 f

33621760 htlutruulphl srlq +< 4h4ruhurur * 150 *
33621520 h!gL*r.lpb1t0 ttq +< 4hrluhruur * 1,200 *

33621520
hhurlurqphL, hhlprplnpnpfrurqlr4
10riq+l${q +<

4h4ruhrur.n
*

2400
)r

33661156
fdfninlnl u \hur \urfohLtrh n 0, 5 % 5 rI1 +<

upt]urtl
*

30
)r

33631,290 hpnr-utpn$b!  00tlq +< 4hqruhruur l. 240
33691260 Lurdnurphphlr t/h 200rlq +< 4hrlruhurur + 400 *
33691203 Lnqurpurtuh p/rt r/h 25tlq q< 4h4uhunn * 140 )l<

33691203 Lnqtuptnuh fa/ul r/h 50rlq +< 4h4ruhruur + 1400 +

33691203 Lnqurptnuh la/ut t/h 100ilq +< 4hquhrutn + 4200 +

33642230 Ltrnphpopuhtr tl/h 1 00il\q +< 4hqr.uhruur )F

200 *
33661137 Lnfrtuqhqruil 1ilq +< 4hRruhruur )r 730 +

33661137 Lnnruqhrqrurf 2tfq +< 4h4ruhtuur * 100 *
33691250 Ltuuuuhnulpnuur 5 0ti\q/d1, 2. 5ri1 +< hrutn * 20 *

33661133 Ll:n4nqu l1*pfh+nqur 250riq+2StIq +<
4h4tuhunn

+

2000
*

33621690 tlurpqhlhlnl 12.5 tlq +< 4hqruhruur )|<

1600 +

33621690 9up{h+hLnt 25 riq +< 4hquhruur + 3000 +

33621690 ttunrlh+hyny 6.25tlq +< 4h4 urhuru * 200 x

3362 15 10 ttuultnnqphL l/h 2Silq +< 4hqruhrurn * 100 +

33621510 ktuulurnulyby 50dq +< 4h4ruhuru * 1600 +



33600000 9lnhurqhultuil 2tiq +< 4hqruhurur + 1,I70 +

3369123 L

trru pfrnr-ri fu n1h\u 1gh$ hp"L btu JTlnr_
r/h 500rIq/400LIU +< 4hrlurhurur + 1500 *

33631300 t hunulfrn$htr r1/q 50tiq +< 4h4urhruur + 600 +

33621,L40 9lnulh4nqphl ry'h 0, 075q +< 4hqruhuru * 600 rr

33621580 Zh+pnpLnnplrurqhrt ry'h 25riq +< 4hqruhuur + 400 *
33661139 Zurlnqhnh+nl 5rlq +< 4h4uhunn * 730 :f

33621700 Uhtnnulpnlnl ry'h 2Sriq +< 4hrlurhrurn )F

460 +

33631100 Llh\ntrurqnl hpFurpunlp 2% 1Sq +< qrup!nr-d i(
10 x

33642220 Utphtqph+Lfrqnph 4dq +< 4hqruhurur ,F 2400 *
33621700 U"hrnnulpnpp 5Otlq +< 4h4 uhruur + 100 *
246rnn lzhtnpnqfrghphtr 4ih 0,5dq T-g4 4hrluhrurn * 100 x

33621750 uh$hrrfrulhh +/h p/q 1 Oriq +< 4hq ruhrurn + 150 *
33611150 'tubUnhtuuhb- 1 50,fq d"r +< 4hqruqruur + 2400 *
33642210 'tlnh+hhqnlnh q/h Silq +< 4h4uhuru + 500 +

33691186 'tlhprughmtuil +/q 40Otiq +< 4h4ruultuur * 400 +

33691186 thFughrnruil B0OtIq +< 4h4urhruur *
600 *

33671113
Uru g:nr-uruninp gnqur ghp
100tfLq/+nqur 200 4nq

q<
upiltu11

,1.

50
x

33621,620 Uulhpnhnlruhurltr 2 Sriq r/h +< 4hqurhurtn )f,

4000 +

33621620 UqhpntrnLur\unb 50 tlq +< 4h4urhruur * 150 *
33621,410 Uhtl4wuqtwqlhtr 20LIq +< 4hrlruhutn )r

360 *
33621110 .{urp$tuphh 2.5dq q< 4hqruhruur + 50 *
33621110 .lrun$tuphh r/h Srfq +< ryh4uhruur * 150 *
33627730 '{hptuqturfhl 4/h 4Oriq +< 4hq urhunn ,r

200 +

33691226 Spruriru4nl +/ul 50ilq +< 4hrlurq utn + 4000 *

33691226
Sprurf tu4nl pnr-bnr1 p hhpup\riurti
100dq'-2.0, +< urlqntlur

)r |(
250

33691209 Stutiunr-lnqh\t 0.4[q +< 4hq ruul ruur * *1800

33651134
Sh"ip"Slnpuurgfrtr
u\hur\urpht hhp 0,3% 5ti1

+<
unrlult

+ x

10
33611100 Orihulpuqnl 20 Jq +< 4trluulruur * 15001 *
33621590 $nr-pnuhtfh4 40tlq +< 4hqurhurur )r

s60 +

33621 560
|}ur ilfrqirphL+ Zhlpnp pnppfru qlr4
2.Srfq+12.Sriq +< 4hrpuhrum *

50
*

33621 560
ntu dhulbphL+ Zh+pnp pnppfrtu qlrrl
5dq+12.Stiq +< 4hrltuhurur +

1500
+

33621 560
lludlrqfrphL + Zh+pnp lnpplnu qfr4
1Oilq+12.Srlq +< rlhrlurhtuur *

1500
:f

33621764 'tl hpfrl-r4nqphL+ hh+ru q ur ilfr4
2rfq+0.625,10 +< 4hrltuhurtn *

300
+

33621764 'tI hpf h4nqphl+ hhryuqurdhrl
4dq+ 1 .25:Iq +< rlhrpuhuui +

1800
*

3362 1764
tl hpfrtr4nq phl + hhr1u ul urdhrl
Btiq+2.Silq

q<
4hrpuhtuur +

1800
*

33621764 t hpfrtr4nq FlrL+ hh+u q ur tihrt
10ilq+1.510 +< 4hrluhurur +

21,00
,ts

33621762 Url1n4|rqhlr* L.rq*pururh Sriq+ gQ,1O +< 4hqtuhunn
)r

900
*



Uriln4fqltlr* L.rq*puuuh Sriq+ I OOriq
3362 1762 +< rlhrltuhunn )r

1500
+

3362 1762 Uil1n4|rqhtr* Lnq*ptnurh l Otlq+gQfq +< 4hrlurhurtn *
100

x

33621762 Urflnrlirqhlr* Lnq*prrr*l_,
1Orfq+'l00utq +< qhrltuhunn x

1800
,r

33621 460

33621460

33621 460

'[ hpfrtrrlnqphl + Udln+hqhL 5riq+ g1O +< 4hrluhunn x
1500

+

'r ulr| uryr ulPFL t uuLn+IrutFtr
5rlq+l Qd.
rTtL-Lf--- r .'lf

+< 4hrlurhurtn *
1200

*
.rtrPlr urlr.r u{lrlll -r uu Ln4Fulrtu
1Orjq+Sriq +< 4hrpuhurtn +

2100
*

33621 460
I

Ahp[tr4nqphl +UrlLn+hqht
1Odq+'lQ{q +< 4hrluhuur *

r200
>fi

33621764 Ahpfhrlnqphl+ hhlurq*.ih4
+Uritnrlhruhb 4ilq+1 .25ilq+Silq +< 4hrpuhurtn *

1500
!r

33621764 'tI hpfrh4nqphl+ hh11u"l *rih4
+Urit nnhq hh BrIq+2. Stfq+ gilq +< 4hrltuhutn *

3200
+

33621764
tl hpirtr4nqFhl+ htrqru 

"t 
*,ih+

+Udt nnhulhh Btfq+?.5dq+ 1 Oriq
+< rlhrluhruur *

4200
*

33621720 Ffrunqpnlnl + Udlntlh"lhl, Sriq+ g1O +< rlhrpuhruur *
1,200

+

33621720 trfrunqpnlnl + Urfln+hqht, Sdq+ .1 g,iq +< 4hrpuhuur *
1800

*

33621720

33621720

)r

1500
+

r-IrurrLrllurLrrL T L ulnlFqrru
10riq+1Qtlq +< | rlhrpuhrutn +

900
33621 550 Ou^IhqnhL+ UriLn+hqht, Z. S,ie* S +

50
x

ft utfhutnht+ udLnrlbul btr SrIq+ silqm + 1500 +

33621 550 Oturifrqpfrp+ Uriln4l.rtht 5dq+ 1 6,iO +<
4hq uulruur

*
100

*

33621 550 I-Iurlfrqpfrp+ UrIpnrll.ql.t 1 0riq+ 5fq +<
4hquqruur

*
1500

+

33621 550 llurflrqplrl+Ud1n4frulhl, 1 OrIq+.1 g,1O +<
4hrlurulurur

+

1,200
*

3362 1T2o If|"nltp"LnL +qihpbt +"qnhL
l5dq+5rit +< 4hrlurhruur *

1800
*

33621720 trfrunqpnlnl + fl hphl.ranulffi
Stfq+1Qilq
r\L----,- .^'ft-

+< rlhrlurhrutn *
2100

*

33621720 r-F urr u{Prr Lrr L'r rr trpp Ur}nqfrftl
1-Qdq+Silq +< 4hrluhurtn +

1500
)r

33621720 trfrunqpnlnl + {i hphtr+"u{phl
1Orfq+1Oilq +< 4hrlurhurtn *

100
*

33691 203
r_ r.' q urlr ulu ur.l.p+pnpLnFIaIrutqFrl
100riq+!${q +< rlhrlurhunn *

2700
*

33691 203 L n qu p tn ur tr + Zfr4pnp 1np pfr tu qirA
50dq+12.Srio

-

+< rlhrpuhurtn *
1800

*

'Ihturhuqhrl gOrlq +< 4hqrurqruur * 900 +
JJOUUUUU Shurhphqhh l0tiq +< 4hquhunn *

50 )r

JJOUUUUU 'IIur hurnulFru qnl 2 0riq +< 4hrlurhurtn + 600 *
JJOUUUUU 'IIurh urnul frurqnL 4 0ilq +< 4hqurhurr,n * 240 *

JJt)/ J. IZJ LI opunl 3Ur1 +< 4h4ruhurtn * 230 x



33600000 llnhinhlnr-l]uuu 5ilq +< 4hquhurtn l( 300 *
JJOUUUUU Unhurhlnr_\ruuur 1 Oriq +< 4hqurhutn + 480 +

3367 1 1 12
hqpurnpnqfrnul
ppnrifr4+$hhn'rhpn1
2 0rltiq/ahrpu2ullr+ g0dqq/ahqrulur+

+< hutn *

20

tr

JJO9l 1 E9 trhtnuhhutnlrtr 24ilq +< 4hqurhtuur l< 2000 $

3367 1124 Snpprurlfrghh 3dq/d1 urltrurlurplrtlrhp +< up{ur\ *
10

*

33671124 Sirqpn$ gopuur glrb+ a hpuru Jhptu qnrl
3ric/il+1ilq/il1 +< uptLurtt )r

10
*

33661 1 56
Of{nlnptrpfrtrqnlurih4 O ^Brjq* 1 O,iq
urbtrurburphthhn +< up{u\ +

10
*

33661 1 56
Fpf ilnblrahh* f+lrL,tn1n1 2tlq + ffi 1 q
urhl-nuburrahrhhn +< up{urtt *

L0
)f

33661136

'lpruqhulruil lnlbnl3p
trhnurpLiluh 5ilq/ri1, 2d1

+< rur.iqnr-1u *
100

x

??A? 1 A)^ Uurnfrd uruurrurnhh 40ilq a/h +< 4hrluhruur * 120 *
33621767 hqnunnph+ dnhnhhrnfirurn 20riq +< 4h4ruhurur + 3000 rfi

33621767 hqnunnph4 ilnhnhfnnpruu aOilq +< 4hqruhurtn x
100 ,r

33621767 hqnunpph+ tlnLnhhrnfiuu 60rlq +< 4hquhurur * 100 +

33611120 $utfnurh+hh aOrlq +< 4hquhurn +
50 +

33 141136 9urphurfr Sqb G22 +< hutn + 24 *
33100000 trrluhpptr+nr_trh) +< hrutn + 90 *
33671,731, Inpurunuafrb 10ilc +< 4hqruhuur + 50 ,r

33631.1,20 rr.PFFutuQnu Lrnnupu. +< qupllnr-d l(
10 *

33631180 Upburph unr_l gur+hurq hl, +< q up!nr-d +
5 *

33621,640 Zh+pnllnptnhqnb 5 ilq/q; 3q +< ulrup!nr-d *
5 *

33661152 ShrnpruglrqthL r Odq,rq, sq +< q rup!nrd +
5 *

0
s Itwtt wzluut aa w uttntttlr 'tbtt

22800000 [.]"h bru hur uru \[ urip.,.1* *rrp
pdZLurLuh puptn +< hurur 3000 +

22800000 Urlpnrlurtnnp pd2\ur lrutr purpurfr
rifrgnr-t1 +< hrur.n )F

10000 *

22800000 Utipnr-luurnp pd2\ur\urtr ptupuifr
Ltuqil +< hurn * 1000 *

22800000
Unnrl2nrplruh tub&htuqhp
urtipnr-puurnF-utn$qfrbf \ru\ruh
huuuurnnlplruh hnrlrJhq tnnrlnn

+< huu x
100 +

22800000
O r-r1h qfrp rffrtrtrnr-1 h pd2 \ ur \ uil:
\uqrlur\hpulnLIaJ nlhnr_ri LruF. -
qnpbhput hh hhrnurq nrnnrBr urh

+< hurur )F

62000 +

22800000

Qpur b gu ilruurl ruh -,Ip.r.1.u*.rp
urn$qdrlrfr\ur\tuh pd2\u\urtr
lurqriru\hpulnlfd1 nlLhhplr pdfr2lhtplr
qnunnuJhhnh

+< huur ,fi
15 4



22800000

Qpruhgurtfturn3 urh tudpnr_purr.nnp
uln$qfhfr\ur\ruh pd2\ulutr
\urqrlur \hpulnLIaJ nlhtrhpf
tunnrl2nr.fd1 urh urnu2tlul frtr
qurhqtuhtituh bunruj nr_plnrhhhp
dururnr-gnq,lh2|rL pnr_dru 2fu u unrl|r
turluuururhpfr

+< hurur *
1,2 )r

22800000
€tur1{ru bp rlhb tuhu u tu \fr
urilpnr-l ruurnn Fd2! tu! urh pulnuhq +< hunn )fi

300

2

*

t(
22800000

Qpubgrudurulruh
urtrtu 2|uru unlhtu \nrpl urL
phpphhbhnh

+< huur *

22800000
I

Unglrulu\rub rfuphpfr
gntuhgunJutnltuh +< huur x

7 +

22800000 Ungfnu 1ur \rutr rlr tup hpfr 2ruhurn.,rfrl,
tnndnq uhnLUtuLp +< hruur x 2000 *

22800000
Utr{drup h upurnL3url qtulri*lrt hp"rl
rnprlq 4hqhph qpruhguiltur.nl rul_r

lQOphpru
+< huur )F

50 *

22800000
Qprutrgunftuurlub 1B ururph\*t hg
purp&p ruhd.urhg urhulfrl-r ur: ghph

+< hrurn *
L *

*22800000

UUt burnurl nr-pj 
"tlrtrhp-* *rr.gr!

pdZ\h ptrupnr-pjurh \rurf iu14
pLurpnr-p1 urh rfrnrfrnfu nr_p1 uh
qptuhcrlurh &h

+< tutn * 1800

2800000
Unnrl2nr-p3 uL ru nur 2hrui frh
q urhq urbr.ituh b urn ur; nrpl nr_blrhph
titu urnrgr-fr.utr hu 2 r] tunriruh &tr

+< hruur + 62000 rf

22800000

.lfrdur\tuqpur\url-r bn pntr
bqpru rfrur !fr1 /d2unlu bl
ruiuur npn2nrdhhpfr qpurh grirul:
nluuulrl 

:

+< hurur )F

3000

.'., t, l.'

300

*

+
22800000

.}f uq r.uhu hp hlrtlruhrlnr_p3 iutr
tl hnuhubnntuLruh pru pu +< hurn ,|(

22800000 Uil{inr}ruqhp &h 039/y-88, A4 +< hrurn + 700 )r

22800000

Ud{rnrf rnhqh\uqbp
ururrur.Ihurpnrdr-u \rul, uf 

"il-rt1ilrt hh*t h,
purduhilnr-hplr, pnr_durptulrh f dhZlf
uurnilururnlnqh ru 2fu utnurhpfr
htu2tlurniltutr &h 039-2 U-BB, 44

+< hrurn + L00 +

22800000 Qfru:hgrutluurJurb 1 00p, +< hurur ,F
6 x

22800000
Uqruuup\tftuh ururprubpfrg 4nr_pu
hfrtlurhahhpfr h tu 2 {ur nrIurtr rltur.n1 urh
1 00n

+< hunn *
1 *

22800000
af Lh\nlnqflu \urh hlr{tutratrhp}r
hr.u ct] urnr{uh tIutnl ruh +< hruur l. I *

22800000

Upqurh4fr qtupuhnglr
hln{u trrlnrpl n r-trh h p}r
hhuruqnurnrpj nr_trhhplr hu2tlrunriuh
ilururluh

+< hunn )F

1 x

22800000 Zqhh tr Etrtr4\tutrlr urtrhuurtu\urh
purptn +< hurur + 1000 +



22800000
Oqhqirp Lrupnpunnfr
hhururqnr.nnrplnr-hhhnh 1 5x1 0

+< hruur + 20000 *

22800000
Uilpnrlururnp hlr{urhafr pd2\urlurh
puFu, 0251t\-87 4phpp

q< hurur )F s000 +

22800000
Upqtuh4|r qurpurbngfr
gf urnlnqfrur\rutr hhurruqnurnrp; urh
nurhqhn

+< huur * 150 )r

22800000 .{durpnrlh burnru1 nlfdl ruh phpfu +< hurur + 200 f

22800000 Qnluurhur\durh ptuptn, 43 +< hunn ,F

600 +

22800000 Zqhlr hu\nr1nr-p1 ruh qruptrrur+hp
b.u{ulbhpfr hru2rlurnr{ruh &h /d.b005/

+< hurur f 2000 )r

22800000
trrup&p 

"h"\h htlhh rlurpriruh
tuhhurr.nurbruh rut urh, 44

q< hurur + 100 )r

22800000
bphfurul fr pd2\ru lputr hu\nr1nr_pg r_ul:

urr.fpnrltutnnp prupr.n (*q* )
+< huur * 500 *

22800000
bptlurul|r pd2\rulub hu\nr1nr_p1 uih
rutlpnrluurnp puprn (*qphU) +< hruur + 500 )r

22800000

Zfr{urtr4rutrngbhpnr-tf, hhrl
rlur uhtuqlrtnur\tuh \ hbtnpnl-rhhpnr-rf
hphfuurhhph t hq r{tuuhuqfruur\uh
funphp4tuurtlnr-p1 uh nqhqfrp
/uqfuru\/ hunlhflurb 23, A4

+< hutn x 100 *

22800000
€urq{urbp hphfu rulfr pd2\tu\utr
hu\nr1nr-p1 ruh turlpnllrutnnF ptupuhg +< huur i( 3000 )r

22800000
Lur|uu bhhr11 urti qtur.npnbud
/durriL hur p 28-32 2upruBurL url-r/

+< hunn * s00 )r

22800000
.lfrdu\uqpur\tutr \urpnh &h 025-2nr-,
10x10 +< hrurn * 1000 )ts

22800000 'Ihnurhuruh /1 B tnuph\ruLr/
*r.,lu-rtpdutr h qpru \ru gnr_p1 nr-tr 44 +< hrurn + 500 +

22800000
bphlurul fr pd2\ur\urh pupur
tnqur/urtgfrL +< hruur :fi 1000 +

22800000
Qruhfu tupqhff qurur{uuurnultrhpfr
pruprn 063d.h +< huur !F

800 )r

22800000

.{tnrutrq}r h2urtrtrhpp hnpur btrfr
ilntn, npnhg un\rulnrplrub
4hqpnui rf*Jpp qhrnp L +h.tlt
pdZ\h hrurlhl .1.4,As

+< htuur {( 500 ,;

22800000

Unnq2nr-p1 ur urhd.lr- qlrp
ur r.ip nrpur ur np - q nfr\ f]rtth\ * h * tt
huruurruurnr-p3 ruh h rq Lthg urnr] nR

+< hrutn + 400 +

22800000 tlil+n+ruqhp trhrt rftuuhur ghurh q< hrurn * 200 *
22800000 Uilrlinrlurqhp &Lt 039/y-BB, +< hruur x 100 +

22800000 Zunlurnnu gprunnr-rftrhnh BhnBhtr +< huur ,r
50 +



22800000

Uri rlr nrlrur foh n fo riur p qru 4ul Fn g h
uurtrfr ru n nrl Z nlfdl urtl
ghruhunnriurh

+< hrurn )r 500 *

22800000

Uurtr4rlu\ 4hn urhtuutrhpfr
uhnur lluh hur unr-tru giftuh
qhurhrurntiurh lurn Ourhhhpfr

/ulrturhhnh hrurfun/

+< hruur )F s00 +

22800000

Uuh4rlur\ 4h n urhurutrhpfr
uhn ru\rutr hruunrhur gtlurh
qtrurhu un turh Euu] foruhbhpfr

/rurtphhhhnh hruilun/

+< hurr.n + 500 *

22800000
\puruhtrSur\ur3|rtr
qnurhqruriuul tuh 100B.

+< hurn ,F

5 +

22800000
trurpfrtrhuull hh phqnr-hhlnr-p3 urtr

rituurlurh l50p.
+< hurur )r 30 )r

22800000
'l-huurrlururnnuihhpfr
qpuhur{nprfurh durnS urtr 7 0phpp.

+< hruu * 15 ,r

22800000

Uhru 2iuururnrhur \nr-p1 ruh fohpp.
qpurLr griruh rlur ur3 ruh ilurtr\ur h*tt
100B.

+< hruur * 5 *

22800000
€urrplurbptthph qpurhgunlururl uh
1OOBhnB

+< huru ,F 5 ,(

22800000
€urr1{ubplthph qpruhgruilurur3 urh
12Ophnp

q< hruur )F
2 *

22800000
tI*JIr rir,uur3utr 100 phpp,
hurzhruruur

+< hurn + 3 x

22800000

trdf2\bhpfr uniuru\*tt
hur 2rlh u{nr-p1 urh dru tn1 rul:
5OBhnB

+< hruur x 10 *

22800000
'lI u unlru u tn n r-tili h p I
qpruhounlururl urh f 5Okq

+< hruur )r
3 x

22800000
trd2\ur\urh qur urpuruurnr\lrh pft
qnurtrqrurlunntruh l70 kq

+< hurur * 2 +

22800000
bphluurhhph nfrlr"lurhuhp
huL nnnr-Blurh ilururtruh 50BhnB

+< hurur )F 10 *

22800000
Qpurhguniuul urh pf np[il[\ulr
hhurtuqnr.nnr-p1 nr-htrhpfr qpuhgilurtr
250rahnn

+< htuur )F
B

*

22800000
Qpruh grurfr.uurl ruh AU..[
hbrnruqnurnr-p3hnr-hhhpfr qprubgtiurl-r
hur.Iurn

+< hurur x 5 *

22800000
Qpuhgruiluurl urh .ihqtt
hhurr.u qntnnrpl nr-htp[ qptuhgrftul:
200rahnn

+< huur )fi 4 +

22800000
Qprutr gunir.uurl urtr hnpilnhru l
hhr.nruqnurnr-p1 nthhbpfr qpurhgrirut:

+< hruur * 1 *



22800000
Qpurhgurilunnl urh hnprinhrul
hhunuqnurnr-p1nr-hhhpfr qpruhgdrutr

+< hurur rfi
1,

,fi

22800000

Up1urh hil.trlrtf*\*1,
urultupluuru3 |rh hbururqnurnr_p1 urh
qpurtrgunlurur3 urL, 15 0p.

+< hruur )r
6 )r

22800000
Q rpuhplr rlurbp kurpurl-ru \tutr
hhurtuqnnnr-plrul,r &hurBnr_n ra N4

+< hruur + 200 *

22800000
tlurhptruptutrur\urh
hhr-nruqnr.nnr-p1ruh &hurBnrn B, N2

+< hunn + 1000 +

22800000 'Ifrupu\urhph"qh rlutrptruprutrtu \urh
hhrnurqnurnr-p1urh &hurpnr-r1p N 3

q< hruur l( 200 +

22800000
UtuhpLurptuhu\urb
hhrntuqntnnrplr.utr &htuBnqB N 1

+< huru + 2000 )r

22800000 Znprlnhurl hhurur qnurnr-p1 r.ul:
d.hupnrqp +< huu * 4000 *

22800000
Uhpnpnqfnu\utr hhur-uqnurnr_p1 r.uh

&hurpnr-qp /MRP/ +< huur + 2000 +

22800000
Uhpnlnqfnu\urh hhtnuqntnnr_p3 url-r

&hrupnr-qp /|unrtfp, nhqnr_u/, A5
+< hunn * 1000 )F

22800000
Upj urh pfrnplnlfrru \urtr
hhurtuqnurnr-f3 r.utr &hupnr-qp,
/qr hbnt hqtucdurb hhilnqr nphl/.

+< hurur ,F 200 *

22800000
Upj rub pfrnplrilfrtu \urtr
hhurur q nrnnr-p1 rutr &hurBnu n +< hruur + 5000 +

22800000
Up1 uh plrnpfnifrtu \tuh
hhururqnrnnrpl ruh &brupnr_r1p

/dhLpntrhrihhrnhhn/
+< hunn )i

500 x

22800000
Up1 urh plrnpfnlfrur \tuh
hhurur qnrnnr-p3 urh d.hur pnr-r1p
/llnurqnlnqpurftiur/

+< hurur * 500 l(

22800000
Up1 rutr pfrnpf tilnu \ur h
hhuruq nrnnrBl urh &hurpnr_n ra

+< hruur * 2000 +

22800000
Up1 urtr pfrnplnlfrtu \ruh
h huu.u q nrnnr-B1 urh &buranr-l p +< hrur.n {< 1500 +

22800000
Up1 urL plrnpfnifrur lurtr
hhuruqnurnrpl urh d.hurpnr-r1p,
q11nr-\nqur

+< hrur.n * 1000 *

22800000
Upqul-r4fr q ru pru hn glr
gfrnnlnqfnu\tuh pbhnrpl utr nqhqfrp +< hurur i( 4000 )r

22800000
af Lh\nlnqfru \urh punr_\fr
hhtnruq nurnrpl urh &huBnr_n p +< hunn ,r 7000 +

22800000 Uhqh hhuuqnurnr-p1 urh &htupnr-r1p +< hruur x 12000 +

22800000
Upjurh l1drt hh*\uh ruulupurururl frtr
hhrn tu qnurnr-p1 ruh &htu pnr-r1p

+< hrurn l( 10000 x

22800000
Up1 tuh ptr4hurhn.l Utrhfr\ur\uh
hhururq ntnnr-pl ruh &hurpnr-n B

+< hrurn ,r 2000 x

22800000
Qprutrgruriuru1 tuh bhrl
duruhtuqhurhhnh qnurhqnlrltrhnh +< hruur * 50 *



22800000 Qptuhgurtiruurl urtr 4hrpuurnrf"hph
huzrlurndurh hrurjup +< lhurur x

7 *

22800000
QpurLgurilunn3 ruh pl-r4nr-trurpuhh
hrurirun N1 +< lhruur ,F t *

22800000
Qpruhgrudunn; urh ptr4nr_hurprut h
hurilrup N2 +< lhtuur *

1 +

22800000
U2fuurtnudunirutlu\|r
hur 2urp\ttruh qpruh gunftu url ruh,

Lur2hquru
+< lhuur f 4 +

22800000 'I hrlhpfr qp ru h gur.Iur ur3 ru h,

\ ru2hutqrn +< lhtuur x
2 )r

22800000 ,'I hrf hph qpruh g unlu ur3 urh,
tl riiZhq urq +< hurur *

4 *

22800000
Qpurhg unfunn; urtr urtnuj frtr
L utr)hph qprutrgriurh, 150phnp

q< lhurur *
1 )F

22800000

Qpuh g ruriru ur3 urtr trhrl
riur uLur qh rntrhplr \ urtr2hpfr

lpurhgrfurtr, 1 5 0fuhpp
+< lhurur +

1 +

22800000
lpurhgturftuur3rutr

lprurirupqq*: ht qnpbrunnrl ptrhplr
+< hruur *

1 +

22800000 ' I hrlurtnnduru3 irtr &lr
N 3, rhntuhurr.nnr_grlnrl +hrl h

+< hruur ,t(

10000 +

22800000
'Ihrpuurnduur3frtr dh
N 3, rlrnfu hururnr-g{n{ 4hrlh,
ulutndhhntl

+< hurur )F

1000 *

22800000 'Ih4urtnntfuu3frh &h N 2,hnqhilhur
hlnr-p ul urpnr-hru\nn +hrt h

+< huur * 1000 *

22800000
'IhrluurniluruSfrh d.h N 2,hnqhrfhur
L3 nr-p qurpnr-hru\n{ +hrf}r,
quudhtrnr{

+< huur x 500 )r

22800000

'Ihrlururnrfu N4, ilh\uhqruri3 ru
l1*,i pruqrfu\|r ahqtpb tr

4hr1utr3 nrfah nh p ru gpnrpiru h
hul-fun

+< hurur * 1000 +

22800000
18 h prupd,p rnurpfrpf urhd.fr
pd2\ruunglrupur\rutr
rhnn&urptrl-rnr-p1 urh nr_r1 hqfrp

+< hrurn )F

500

*

22800000
€ ur r1{ur bp ilh b ruhururu \fr
urilpnr-pururnp pd2\ur\ruh
ptupurhg, A5

+< hrutn +

2000

+

22800000
$gnrpnqpur$hru:h
hhtnurqnurnrplurh pl rutr! A5

+< huur ,F

100
+

22800000
fthtnnqhh hh urur qnrnnr_p3 urh
ppuh\, 44 +< hunn *

1000
*

22800000
Olurpru&tultnulfrtr
hhururq nrnnr-p3urh pi ruh!, R+

+< huur *
200

,fi



22800000
Olurpurd.ur3trurlfrh

hhtnurqnr.nntpl urtr p1 utr!, R4
+< hruur +

500
)r

22800000 fthtrtnqhh bprup 33x43 +< hruur x 200 la

22800000 flhtrnqhh brlup 27x33 +< hunn )r 200 *
22800000 fthtrurqhh bpurfi 2Ix27 +< hurur )f,

100 ,r

22800000
U2fu ruururdrur,Iurhur\h h*ZrlruFqh
*t{h\-qhp, 43

+< hurur *
50

)r

22800001 rlb u. q ru urrLhplr p1 rutr\, A +< huur * 10000 x

P tlltwQutb fun 'tt
33200000 LhFhruhlnrp qfniqur 1 000ti1 +< thrnp * 3 *
33200000 ptthillt 50 ri1 +< ril + 100 +

33200000 Ouqh phuu Uh4hupnhtr +< phutn x 6200 *
33200000 !&rqtlltl 1or +< thurp + 4500 +

33200000 U tnfrnr.Iur urnltuJ qh p /3 x 5 0 0 d1/ +< ilr l. 7500 *

33200000

Zr.urlurpurbnr \r1utrpl.r.Ihf ptupb{ru b

urpj nrhp hu1 r.ntruphphlnr_ htuiltup
N25

+< hurur * 25 x

33200000 Lur tnphnr-tIh gfrurpu rn +< qF +
1 000 *

33200000 aftshphL +< thmn )r
1

*
33200000 ahpsullh 1nr-r1 +< thurn *

1
l(

33200000 Urpuppnr- +< thrnp
* 3 )fi

33200000 Ugnunu\urtr ppnr +< thtnp +
1 *

33200000 U nr-p$ nu tu fr g fr 1tu ppnr- +< qrr *
1 000 +

33200000 irurfrnr-dfr hfr4popufua KOH +< qP ,r 150 +

33200000 I-lnr-qnfr L-p ( 10 3.rlh rp) +< dr * 100 x

33200000 €urg * |ur.., pfd nL uurn grul frh +< thurp f
1 +

33200000 UhphLhtr Lluru{nlJrn +< qP * 400 *
33200000 Lhp\urhlnL p tlultr qplnr_trt] tu1 4 +< thtnn * *

33200000 .{ur\nr-riurjfh rfrnp&r.uhnp K2 EDTA +< hurtn i. 9500 *

33200000 .{u 
hnr-rirul lrL r}rnp&rutrnp q hfn{ +< hrurn l( 2000 +

33200000
.{ur\nr-rirujfrh rfrnp&rutrnp Na
glnnpuruntl +< hurtn * 500 +

33200000
3-nhur\tnhr{ 

""ih*ur\nr-g 
/C RP/

10Onhutn +< phuur 2000 *

33200000 fthr{r.uurnh+ S*\-np 1 O0phuur +< phuur )r 800 )r

33200000 fapntlpnq 3u uur[tr 2 4 0 p h uur +< phur.n x 7200 *

33200000 Qfrhtuurlrhfrh l 0x50il1 +< phutn * 3000 ,1.

33200000 brySshnh+tthp /1 0x50rl/ +< phutn *
1 000 +

33200000
ASlO-uhurlruurphulpn#qht -O
40phuur +< phun >F 160 +

33200000

U\urfr{ui g{ur b rlur uhur \}r
ppnilpnqputrruplrhurl bL duri /Sx4rlp
200nhuur/

+< phutn + 400 :F

33200000 Opntlpfrh lOxl il1 '1OOphurn/ +< phutn * 100 *

33200000 tunlhuphpnl 10x50tf1 +< phuur * 8500 *

33200000 tunlhuphpnl-HDl 4x20{y +< phuur + 640 *

33200000
2fnitrurlfrtr Qnu$ururuqur AM P
5x2Oilr

q< phuur )r 200 )F



33200000
\upfrnr-ilf npn2riurh
hun]urpubnr- +< phuur +

1 000 +

33200000 trhthnnr-phl, D 5x50{t +< phuur * 3000 +

33200000 trhrhnnr-phb T 5x50rir +< phutn * 3000 +

33200000 UI-S 5x50rl1 +< phuur + 3250 *
33200000 UUS 5x50ri1 +< phuul + 3250 )r

33200000
Ulruurhriruj frh pr_bnrj p C o n ce ntrate
liq. Sys1000ml +< ti1 +

1 000 +

33200000
L{urgnrl pnrbnrlp Conc. Wash. Sol
'100 ml

q< tip )r 200 +

33200000
Lunnpfrnrtl npn2hlnt phuur
hrudruprubnr N50

+< phuur + 150 +

33200000
9rhfrnuilr npn2hlnr phurn
hurr]ruprubnt +< phuur )F 200 x

33200000 ttnhtnpnl ufrdnt! l- 5rif +< ti1 * 25 )r

33200000 gnhnpnl ulrdnr-! ll-5rlr +< ti1 + 25 +

33200000 Qunr-\nqur 10x50ili +< phur.n + 7000 +

33200000 Uuqtrhqhnr-il 5x20ti1 +< phutn x 100 +

33200000 bp\urfu Shpp"qh 5x50tl1 +< phutn x 500 +

33200000 Zhdnqfnphtr A1 C qfrqnbhqurgqulb +< phur.n * 90 +

33200000
tr ur frppru tnnp pfrnpfrilfrtu \ruh
hhtnruq nr,n. hrirtitu p 5ri1

+< r [r * 20 rl.

33200000 bhnphnfrh l x45ril +< rl1 * 45 l(

33200000 bhppfrtrnqhtr +< phutn * 3840 *
33200000 4qilhf uqru +< phutn * 200 *

33200000
tr|rnpf ilfru \r.uh u htu frqu urnpfr

[nr-t]htn A-15 N1000 +< hurui l( 2000 *

33200000
93nr-{htntrhp HTI TS 4000
L nurqnrl nrihrnnh hrutltu n

+< hurur )r
1 400 +

33200000 trnpnufrfr\uurh rlrnp&ruhnp Stat Fax +< hurur )r 500 +

33200000 Ufrqtutrlnr-p 5x50 tI1 +< phutn ,r 3000 ,fi

33200000 Llfqtuppnr 10x50 +< phuur i( 500 ,r

33200000 llnrnnp +< hruur * 20 )r

33200000 P $nu$np 5x50 +< phuur * 250 x

33200000
GGT Qpuriltitu qp-nurlfrl

lqnruh$npurqur5x50
+< phutn * 250 +

33200000
L D H Lurprnruln 4hhf4pnqhtrurqru
5x50 +< hurur )r 250 +

33200000 TP Ch4htuhnr-p uqfnnru\r-q 10x50 +< huru *
1 000

33200000 Albumin Upnr rlfrtr 5x50 +< huur + 500 *

33200000
UurqLrfrtnurfrtr qbafrblrhp HTI TS 4000
h nuqnr-1 ntlhurnh hturirun +< hurtn + 200 +

33200000 Uburfr A +< il1 f 80 +

33200000 Uhrnfr B +< ti1 +
BO *

33200000 Utnnfr C +< rIt * zc +

33200000 Uhurfr D +< rJt * 100 *
33200000 Uhurfr AB +< ri1 * 15 *
33200000 $frputud +< ti1 * 3500 *



33200000
Uh$htlr"f, npn2riurh phur.n
hrur.lurpurbnr RPR +< phuur )ts 2100 +

33200000
rlpnuururur uq hSftQLr\ rul-unirqbhfr
npn2durb Bhurn hunl rupubnr- +< phutn + 28B +

33200000 Ofrphnuipnq hnpilntr +< phuur * 796 *

33200000

tulutifa[u1fr puhu\u\urh
hurj r.nhrupbprfurh phurn hur{urpur8nr
lqG

+< phuu x 96 *

33200000 4!tttt1"p*11*hp /\uruuhuru/ Ab q< phuur * 90 *

33200000 Zhfrlnpru\tnhp /\tuuuhtnur/ Ag +< pbuur + 60 *

33200000 Sph:"+Lrpnhfrh ptrqhurhnr_p /T3 freel +< phutn + 96 *

33200000 Iahprrp"htr ruqrur.n /S4 free/ +< phutn * 384 +

33200000 tunp frnburlhnhtu4nurpnul hir H C G +< phuut + 96 +

33200000
Upfr urShurnulpnurhfrhfr npn2rltul:
nhuur AFP +< phuur + 96 +

33200000 Lpl11hlrlrfrqrughnrl hnprintr L H +< phuur + 96 +

33200000
$n['r\nr-1 uurfnfnr-pu gtrnq hnprfnl:
FSH

q< phuur )r 96 *

33200000 'llpnqhutnhpnh PRG +< Bbun x 96 +

33200000 huuipu4frnl E2 +< phuur * 96 *

33200000 Snpunqpuqriu lgM +< phuu * 96 *

33200000 Snpunqlurqrlur lg M/l gG +< phutn * 30 +

33200000
'I hhfrqpn hul h ur b4 pn u ur h pnh
unr-1gutn DHEAS +< phum * 96 +

33200000

Zhqrutnfnn tr rutrurfrqhhfr npn2ilul:
phur.n hru{urpubnrJ\uuhuru/ +< phutn + 1200 )r

33200000

Llunipg urlrhph htutr4hq
hru\uriltuprf frhtrhpfr npn2druh
hun]rupurbnr

+< pbuur * 192 *

33200000

L1 unipg urtthpf, hruhrlhq hru\uEhfr
npn2rlurh hurlurp hrufu uurhu{tub
btuuuhururhhn

+< phutn * 40 ,r

33200000

Zru \ ru pfrp h n q pnpnrfrh u j irh
hru\uilurprflrhtrhplr npn2ilurh phur.n
hrurluBurbnr-, TGAB

+< phur.n {( 192 *

33200000
Sfrurnrlhqurlnrftrpnr-ufr I g M npn2iltutr
phuur hurtiupurbnr- +< phur.n x 96 *

33200000

Uu\upfrrllrhph hruh4hq
Zu\urirupillrhtrhpfr npn2rirutr phurn
hrr'ttltrr nrrrX-,

+< phutn + 192 ,t(

33200000

Zu \urpfrp hnq hpopuhl* qh
htu\ruiluptifhhhplr npn2rlurh phuur
hrurl urpurbnr-< Anti-TPO

+< phuur )r 192 ,r

33200000
tpnlurp urfrtrfr npn2riurtr p butn
hlurlurptubnr +< phuur * 192 *

33200000
UhU.l/lhUZ-h npn2rlutr phuur
hru!uprubnr- +< phutn + 150 +

33200000 Spnqnl-rfrtr I Troponin I +< 1ahutn + 20 *

33200000
hh$h\gbnh tfnhndnr-\1hnq (htr.t) lG
M/IG G EBV IG M/IG +< phur.n + 30 *



33200000
tlfr\nqptuqrfur I ST2/Mycoplasma I ST
2 +< phuur * 150 ,fi

33200000
Ufr\nq1tu qrltu ufruphri
ur r rnr,u/Mvcoplasma svstem olus

+< phutn * 40 )r

33200000 hbunrfrh +< phuu ,1. 288 ,r

33200000 Irupfrtnnhfrh +< phuu * 192 l.

33200000 Qnptnfrqnl +< nhutn * 96 t

33200000 'Iltupururhnprinl: +< Btuur * 192 *

33200000

Uplurh rih2 D-Dimer ptuhu\ur\urh
npn2riurh huilurp trurfu uuhur{urb
phuui-hurltuprubnr

q< phutn * 192 *

33200000

UpJ.urb tlh2 t{}rtnurilhb VIT D
purhu\ru\ruh npn2ilurh hulirup
hrulutuurhutlub phuin-hutlrupubnt

+< phutn + 192 +

33200000

Uplurh rlh2 rlfrunuilhb 812
pruhtu\ui\ruh npn2rlurh htutlurp
huluunnhu{rub phuur-hunltupubnr-

+< phuur + 96 +

33200000 Ulnrlhp Zfrhtnnh tuqtup +< qp x 500 +

33200000

Uurprinhhlurhhplr

|q hitnhshq*Si'.rh htutitup
hur fu ur u hurlrub u1 tu r.npur ur,nfr

ppnrinqhh rifr2unlulp /SM2 tuqtud

+< hurur )r 40 *

33200000
€pnilnqhh rffr2ur]ru1p /Chrom ld CPS
Elite/ +< hurr.n * 120 *

33200000 Cn\n1ur 4ur1 frtr ur qtup +< hurr.n + 120 +

33200000 Gn\u: 1ur4 ptu gfrurptu clih tu q urp +< hurur * 100 *

33200000 fdurlhp UruprnNr urqup +< hur.n + 120 *

33200000 Ufrlihprul 3nr-q nr-phqpuq,i*th +< dr * 500 *

33200000
Ur.nj nr-urprn urpruhuqnpurtul frh
dhpunlrurn N 100

+< hun )F
1 000 +

33200000
Qhtrpnpu urLutpnp G ENBOX
ANAER 10 sachets

+< htuur * 150 *

33600000 Uqfrppntihght q< nnr-rlr + 200 *

33600000 3h$tnpfrrupunh +< tnnr-rh * 200 +

33600000 ahhunuilfrcfrh +< rnnr-fr x 100 *

33600000 L|unpnSnr-puhtnnfrL +< tnnr-rJr {< 200 )F

33600000 Unpufr$ppurugfl: +< urnulr + 200 *

33600000 Uhurpnhfr4uqnl +< urnr-rh + 100 *

33600000 Qn-urpfriltupunqnL +< tnnr-rfr * 200 *

33600000 3h$opufrtnfrtr +< urnr-fr )r 100 +

33600000 Snppurdfrgfrtr +< tnnr-rJ-r * 50 +

33600000 Qlurpfnnpntihghb +< urnulr * 100 *

33600000 llopufnnpndfrcfrh +< urnr-rJr * 50 x

33600000 'Inpufgfr!1|rh q< urnufr * 100 {(

33600000 hrlfrhqhhhri +< urnr-rlr + 100 )F

33600000 $nu$nrifrgfrl: +< urnr-rlr + 100 )r

33600000 Sfrqpn$lnpuurofrh q< urnr-r.h )F 100 >F



33600000 Utl$nurhphshtt tr +< urnr-r]i x 100 *

33600000 Uil"lhghilrb unrpu\unuil +< urnr-rlr * 200 t(

33600000 UilnpufrgfrfrL \ 1 
ud nr-1 frhruppnr_ +< tnnuf * 200 *

33600000 hphtnpntihshl, +< tnnr-rlr + 200 )F

33600000 tlfrq hn iu gfrfr rnru qnp u 11 ur uni +< urnrrJ'r * 200 +

33200000 qhul hrihafrhur; frh fdfdnl +< urnr-rJr * 200 x

33200000 L*fr+ipuulfrh planl +< urnr-rfi * 200 la

33200000 SnuQnrifrgfrtr +< urnr-rlr + 200 *

33200000 Llru frnS nrpurhur nfrl: +< urnr-rlr )F 200 x

33200000 $nr-pru4nhfrh +< urnr-r.|r + 200 *

33200000 shSfqftl +< urnufr * 100 x

33200000 Furglrurpugfrh phutn +< urnr-rlr {< 100 x

33200000 Opufr4uq phurn +< uprlruh * 5 )r

33200000
Qpur ti trhp\urtrpnr-phpfr
hur{upurbnr-, +< tnnr-rfr + 2 x

33200000

CRP C -phu\urhrl 
"ufh*ur\nr_gfrpurhru\u\urh npn2dutr hunltupubnr-

'hurfurutnhu{uE A-15 ,

pf npfnifrur \ uih urhtu ['rqu tnnpfr
hunfr.un

+< phutn * 200 +

33200000 Uurh4tupur CRP +< un!urh *
1

+

33200000 RF +< phutn i( 100 +

33200000 Uurtuh4rupur RF 1x3 +< uprlrutl )r
1

+

33200000 UTI urqtup +< qp + 500 *

33200000 Uhufruurphqtnnfiiqht, -O AS L-O +< phuur {( 50 *

33200000 Uururhrluptn ASL-O +< up{urtt + 4
I

+

33200000
€pndnqhb rifr2u{u1p Chrom ld
Candida +< hrurn +

BO
)r

33200000
Ul1*hr'l plnp uL2urunq r11 nr_ptu1nr1 b

hurphn
q< hr.utn x 1480 +

33200000

Ufuururhtuhfr2 furntuhj nr-p'
tnufu urr.n hutlu b p d2\ tu \ tuh
L2uhru\nrpl uh qnpbfrphhpfr,
ttr4nu\nqhhph' urluuurhurhr.lurl-r,
hur fuurfurbpkruqhpbnr-ilur1 |rh tr
ttrq hilturnhb rlurpnrlurh hunftun.

+< uinr-rlr t 30 +

33200000

Uluurtuhruhfr2 rifr2ng, |uuiurhl nr_p'

brufu unnhutlrub rlur\ hphulrhph
ru|utnruhr,utlitutr h rituppilruh htutiurp :

+< tJr*p x 10 x

33200000
Uilptu\ir2 Qgnrpn dtuupurlhtrhhplr
hurdrun +< Lh-p

,{<

B *

33200000
bpbur \fr2 Sg ntpn durqunlhbhhplr
hrur.Iurn +< huur )r

B l(

33200000
Utiptu\fr2 nhtrtnqhl-r dtuqtu{htrhhplr
htur.iurn +< hurur )r

12 l(

33200000
bpbu\fr2 nhtlnqhh druqrur{hhhhp}r
hruriup +< hurur )F 12 *

33200000

Ztu \rup tu\ tn hpfru t h hrlnr-\ Lrlu gnrl
,IhU 

"g' &hnphpp tulur,nurhurhhpr-
hr.utiun

+< hurtn )F o +



33200000 Uurphqtnnurhuu +< I.nnL * 6 +

33200000 llhurqhhtn EA - 50 /Reagent,pAp 38/ q< tJ.*p )F
B x

33200000 flhurqhhin OG - 6 /Reagent,pAp 2Al +< tJ'*p ,1. 8 +

33200000
Zhdunnnp"lril-rb /H e matoxyl i I n
HP,PAP 1Al +< tr*n * B )r

33200000 €ufrlhh +< thrnn * 12 ri

33200000
trfrntlurnrhp D OX/LOW /tlnfru-hp.,1
25Oilr +< t]'*p )F

6 +

33200000 Sprutruu{npururJ frh dfr2ur {ru1 p +< hurur + 2000 *

33200000 Uqnqfrpunl
t

+< hur{tuptubn
L

x 10 x

33200000 9ptubhlr ul hfropufr43 3 % +< t]r-p + 30 *

33200000
U4htrn/ftnrnrur{frpnr_u Adeno/
Rotavirus +< phuur * 25 x

33200000 qnhq 4*B Influenza A+B +< Bhuur l( 30 +

Ophhpfr 15-ftrl hn4{rub}r 6-p+ ilruufr h}rilurh rlpru


